AR 115 bp - AR 135 bp - AR 115 bp/1000 giri-rpm

588600

SL000061-EZ

UN990004-1B

UN990002-1B UN980017-IC

14 O 2011 Annovi Reverberi Spa
00O "ArpoBeTtCHab" (495) 551-23-44 / 551-45-66 / 551-48-41



AR 115 bp - AR 135 bp - AR 115 bp/1000 giri-rpm

Mos. Kop OnucaHmne Kon-Bo MpumevaHnsa Mos. Kop OnucaHune Kon-so Mpumevanunsa
1 580013 | Kopmyc Hacoca 1 59 | 1500350 | 3amura kapgaHa 1
2 | 580150| Kommexrop 1 60 | 550332 | Ilaii6a @i 6,5 2 | Geomet
3| 550101| IIpasas romoBka 2 61 | 320621| Illait6a oi 10,5 5| Geomet
4 | 550102 JIeBas romoBka 1 62 | 740290 | Konprio pesnHoBoe 914x1,78 1| »
5| 180152 Taitka M10 3| Geomet Ca 63 550173 | Ban “C" 1| AR115bp (AM)
550080 | Mem6paHa paboyas 3 | pesuna 580330 | Bam “C" 1| AR135bp (AS)
550084 | Mem6pana pabouas 3 | ButoH 64 | 580370 | TapenbuaTas maitba 3
550085 | Mem6pana pabouas 3 | mecmoman 65 | 580360 bomt MmemGpanb! 3| © Cy
550086 | Membpana pabouast 3 | HPDS. 66 250310 | Konbrio pe3annoBoe 0936,14x2,62 1| X
g 580110 | T'mnp3a 3| ART15bp 67 | 580080 | OmOpHbI KPOHLITEITH 1
580350 | Tmmp3a 3| AR135bp 68 | 540301| Homr M10x30 1| Geomet Cs
10 500260 | Konb1io mopurus 3 69 200233 | [laii6a @i 10,5 2 | Geomet
12 | 580120 Ilopmens 3 70 | 580400 | IIpaBblit mepeXofHUK KOTIEKTOpA 2
13 | 380300 ITamer 31K 71| 550460 | ITarpy6ox o 18 1
14 380080 | 3amopHOe KO/MBIO 6 72 550450 | I'avika HakupH. 3/4" G 1
15 580140 ]_HaTy'H 3 73 880831 KOIII)LIO PpesnHOBOE 015,54x2,62 1 BUTOH
16 320030 | Komprjo pesunoBoe o 31,5x4,5 6| 90Sh X 74 | 1609000 | ITpemoXpaHUTENbHbIN KIAIaH 1
17 | 759051| Knanau B cbope 6 75 | 881560 | ITarpy6ok 90° 1/2”G (M)-(F) 1| &
18 | 540541 | Taiika HakupgHas 173/4 G 1 76 | 580421| Ilepexomuuk (M)-(F) 1/2°G 1| Cux
19 | 390291 KonbLo pesunoBoe 028,25%2,62 7| X 77 | 180101| KombIio pesmuoBoe 917,5x2 21>
20 | 540530 ITepexomuuk 171/4-173/4 G(M) 1 78 | 850851| Bont M6x30 2 | Geomet Cro
21 390271 Taitxa M8 3| Geomet Cyo 79 620472 | Bont M 10x20 3 | Geomet Cso
23 | 580050 | ITpokmaaka 1 X 80 550175 | Bam“SPx(R” 1| AR115bp (AN)
25 580180 | HynkHsist Bo3fylIHas KaMepa 1 580430 | Bas“SPxCR” 1| AR135bp (AX)
550190 | Mem6pana BO3/[yLIHOI KaMePbI 1| pesuHa 81 390180 | Konb1io pesnHOBOe 018,72x2,62 11 »
550191| Mem6paHa BO3/yILIHOI KaMepbl 1| carypdmnon 82 | 1040310| Macnsubiit 6a40k 1
550192 | Mem6paHa BO3/yIIHOI KaMepbl 1| BUTOH 83 650920 | Konb1i0 pesnHoBoOe @ 53,62x2,62 1
550193 | Mem6paHa BO3IyILHOI KaMepbI 1| HPDS. 8 4 1040322 | Kpsimka MacassHOro 6avka depHas 1| ART15bp
27 | 550233| Kppimka BO3TYyIIHOM KaMepPhI 1| uépHas 1040320 | Kppiirka MacnAaHOro 6auka KpacHas 1| AR135bp
28 | 550300 | BospmyuHbIit KIanaH 11 Cs 85 | 580230| Kombuo pesnnoBoe 069,52x2,62 1
29 | 650542| ITpoxmanka 1 86 | 550920 Dmanery 1
30 | 550680 | Boxr M8x20 41 Cyp 87 | 550950 Borr M10x25 3| Co
31| 200391| 3anopHas wraitba 1 88 | 180030 Bonr M8x20 1] Cx
32 550470 | TTpoxmazka 1 89 620561 Konb1io pesnnoBoe 078x2,5 1| X
33 | 550070 | Bcraska 1 90 | 621000 Kpbimka pesykropa 1
34 | 550060 | TommmmamMK 11 ¥ 91 | 550930 Pemyxrop 1| =64
35 550170 | Basn “ SP” 1| AR115bp (AL) 92 | 620950 | ITpoxapxa 1
580380 | Bay “SP” 1| AR135bp(AT) 93 | 1140370 | Mac/isHBIIT LTI C Pe3MHOBBIM KObLOM | 1
36 | 580470 Kompro Bama 2| X 94 | 1980740 | 3armymxa 3/8"G 3| maryup @ Cyx
37 | 551040 Bomr M10x55 12 | Geomet Cao 95 | 740290 | Kombuo pesnHoBoe 914x1,78 3
38 550310 | IMopummHUK 11 ¥ 96 621010 | Bontr M10x75 4| &Cy
46 | 550340 | Iepexomunk 1°G(M)-1"G(M) 1 97 | 620960 | Kopmyc pesykropa 1
47 550350 | Konb1o pesnHOBOE 0 23,81x2,62 11 KX 98 540290 | Bont M8x25 4| & Cy
48 550242 | T'aiika HakugHas 1"G 1 99 651000 | Bornr 5/16” 4| 5/16"x24UNFx1”
49 | 550370 | ITepexopnux @25 1 100 | 881090 | Imonka 1
50 | 540550 | ITepexonnux g 40 1 101 961800 | CampHmk 1| X
52 250310 | Kosnb1o pesuHoBOE ©36,14x%2,62 1| X 102 961790 | 3amopHas maitba 1
53 | 550491| Camprux 1| X 103 | 320240 | 3amopHas waii6a 2
54 650920 | Konb1o pesuHoBOE ©53,65%2,62 1| X 104 961780 | I[TommmmHMK 1 X
55 | 880530 3armymika 3/8"G 1| Cn 105 | 621660 | Ban 1] =N
56 | 330173| 3armymka 1/2"G 2 | Geomet & Cax 106 | 620990 | ITomummHMK 1
58 | 580072 | JleBblit mepeXOAHUK KOJUIEKTOPA 1
[— <
=)
s fr
\ o R
\ o%é(:g)
Ha6op 2367 Ha6op 2370 Ha6op 2026 Ha6op 2025 Hcnonbayemoe
pesuHOBBIE
MCM6P3HI)I KIanmaHbl PpE3MHOBbIE KONbLIA s 06Cﬂy)!(l/lBaHMﬂ Macno
Ha60p 2368 IIo3. Kom-BO Ilo3. Kkom-BO IIo3s. xon-Bo  Ilo3. KOI-BO IIo3. Kon-Bo Tun KT
mem6pansr HPDS 16 6 16 6 8 3 46 1 81 1 Hacoc 1
Ha6op 2369 17 6 19 7 16 6 a7 1 82 1 S;\BO
N;;Z]::E:::I 2 1 17 6 48 1 8 1 P | 02
47 1 18 1 49 1 84 1
52 1 19 7 50 1
54 1 20 1 53 1
66 1 23 1 54 1
81 1 26 1 64 1
83 1 29 1 65 1

2011 Annovi Reverberi Spa ()

000 "ArpoBeTCHab" (495) 551-23-44 / 551-45-66 / 551-48-41

)
=
=
)
=
/A
<
=






